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4V?O=>< (7 <5F>N 7<V=< FV?L>6>7> ?D<7=4G5==O) =4 ?D>E?5>FV �5D>W6  

�=V?D4, 37-�, G <. �>DVL=V �?46=V �D5<5=GGFL>>7> D4=>=G �>?F46EL>>W >5?4EFV, 

6V4?>6V4=> 4> EF. 26 �4>>=G '>D4W=< «�D> <VEF565 E4<>6DO4G64==O 6 '>D4W=V», 

>5DGNG<EL EF.EF. 22, 25 �4>>=G '>D4W=< «�D> 75<?5GEFDV=», EF.EF. 12, 20, 93, 116, 

123, 134 �5<5?L=>7> >>45>EG '>D4W=<, 6D4E>6GNG< ?D>?>7<FVW ?>EFV==>W >><VEVW 
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1. �444F< 4>76V? �4>4L56G �VF4?VN �?5>E4=4D>6<GG =4 D>7D>5?5==O 

?D>5>FG 75<?5GEFD>N M>4> 6V46545==O 75<5?L=>W 4V?O=>< (7 <5F>N 7<V=< 
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